ER25FE (2013FEE)
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1 #BEx
(1) mA

(BAZ: T - %)
K il IE BT O A MRk = %R at 304z
1| i 19,702,200  52.8 19,702,200{  51.3
2 sE 5 B 180,000 0.5 180,000 0.5
M FORZ A & 136,000 0.4 136,000 0.4
418 %5 # x M & 66,000 0.2 66,000 0.2
5 [BRASERENE P 5 51 22 1+ 4 13,000 0.0 13,000 0.0
6 M 7 18 Bl & & 1,128,000 3.0 1,128,000 2.9
7 |E B A5 B AT T 4 113,000 0.3 113,000 0.3
8 [#H 7 K Bl & AT & 62,000 0.2 636 62,636 0.2
g K & £ B 150,000 0.4 120,817 270,817 0.7
10| A2 80 22 A kF SR e 1| A A+ 4 13,000 0.0 13,000 0.0
1117 #H & k VA #H & 320,647 0.9 320,647 0.8
12|16 B & OV F %k 911,460 2.4 911,460 2.4
13 I S R 4,978,298 13.3 4,978,298  13.0
14|%8 X H & 4,685,920 12.6 38,365 4,724,285  12.3
15(fF JiE I A 14,784 0.0 14,784 0.0
16|%F BfF 4 3,671 0.0 181 3,752 0.0
174 A %o 968,506 2.6 1,612 970,118 2.5
18| el %o 500,000 1.3 924,678 1,424,678 3.7
19(7 I A 472,222 1.3 472,222 1.2
20| & 2,921,400 7.8 2,921,400 7.6
= &t 37,340,008| 100.0 1,086,289 38,426,297| 100.0




(2) mH (BB

(B2 TH - %)

K il IE BT O A MRk B %H at 304z
1 i = # 390,517 0.9 390,517 1.0
2 ¥ % # 3,514,212 9.4 700,572 4,214,784  11.0
3R 4 # 16,000,134  42.8 97,301 16,097,435  41.9
4 | 4 # 3,686,343 9.9 205,793 3,892,136 10.1
5% 18 # 113,546 0.3 113,546 0.3
62 H K FE X & 47,590 0.1 47,590 0.1
7 |pE T # 224,973 0.6 224,973 0.6
8 |t VN # 4,438,652 11.9 318 4,438,970 11.5
9 |14 ] # 1,550,357 4.2 1,550,357 4.0
10|% ) # 4,313,004| 11.6 43,290 4,356,294 11.3
11| f& # 2,940,907 7.9 2,940,907 7.7
12| 53 sl 4 60,233 0.2 60,233 0.2
13| 7 i # 59,540 0.2 39,015 98,555 0.3
= 7 37,340,008| 100.0 1,086,289 38,426,297| 100.0

3) mE (EE R
(HAL: T - %)
X ool #OE AT O BH (MERKEL| MR #E 7t (37429
A 7 H 6,639,676 17.8 6,639,676| 17.3
Z’% 7S B # 8,002,376| 21.4 8,002,376|  20.8
o |4 (= e 2,940,907 7.9 2,940,907 7.7
# /I &t 17,582,959  47.1 17,582,959  45.8
W (Gx 7 6,530,121 17.5 55,302 6,585,423 17.1
MR oM & % 186,363 0.5 1,120 187,483 0.5
i B # & 4,173,100 11.2 28,338 4,201,438  10.9
H AV 4 204,599 0.5 900,013 1,104,612 2.9
BEELXOHES-H4 601 0.0 601 0.0
i i & 3,769,136| 10.1 1,251 3,770,387 9.8
B & M & #H 4,833,589 12.9 61,250 4,894,839 12.7
¥ fifi 7 59,540 0.2 39,015 98,555 0.3
= 7 37,340,008| 100.0 1,086,289 38,426,297| 100.0




2 BiE

(1) mA
(HAp7:TH)
K fli IE % £ 2 M E AN K o M
8 |Hh J7 i 1] A2 A 4 636
9# F & fF Bi| 120,817 i@z AfHBL 120,817
14148 < W & 38,365 | FRALLR A ATIE B H S A 4 23,983| #BHE1/2-4/16
TR U B AT DT A S 2l B 4 13,125  #fiBh#3/16
NS A HEE R R LS 357|  AliBhE10/10
BT o TAT IR TS 400|  FfiBI#10/10
SMEBAMTE T NV FRERER 500|  AiBh=10/10
16|%F ) & 181 | k(b S 2377k 4 13
TBHCEEEFME 168
17 #4 A & 1,612|% # i R FR RIS FHR A4 1,612
18| s 4| 924,678
a af 1,086,289




(2) mH

(HAZ: TH)

THAEM 7Y

K fifi 1E %4 + PR £ 1E N i B G
f % | 700,572|M B L RSN 4 (LT 4 700,000
2 | s w 97,301 [&HER} (Bl E (L E BT HIRE) 1,120
I RBR B2 4 1,251
SRER T T 2 S 4 12,967 gﬁ%ggigi)
AL TR RS MG R 61,250 o EPE TN
FHEABREEMHEES 5,976
EHR X H AR 4 (1144) 14,091
3 |#r st ol 205,793 |5 k% EH R B E LR 5,016
BB AR 4 (BT T4) 200,000
8 |+ K by 318| RENFESE i F ookt 305
B L0 LB H RN & (ST 4) 13| kL F a5y
10|k 5 =g 43,290 | \Hes EHE RS 3 357
BT T TR 400
SR AT B 7L 3 500
() B HACRT Ml 2o 27— L 416
WYL 2 ’
() B HACRT Ml 2o 27— 14915
1 B A (— PR Bk ’
() B HACRT 2o 27— 5 180
1 A Gl R PR B ’
() B HACRT Ml 2o 27— 192
A i A (i 25 LA 80
() B HACRT Ml 2o 27— 192
i B A (AR S
() B HACRT il 2o 27— L 013
i A (R - 25 - IR R e ’
() B HACRT il 2o 27— 5 267
i ot B A 2 (e 0 ’
(5 F) B AL sl 57— (R 4y 2 5 381




K fifi 1F %4 £ 7 M B N = B

(IR B FARHT Hirdsk s 2 — [R5 2R L1646
6 5 R A2 (— ks 2R ’
(IR B FARIT Hirdsk s 2 — [R5 2R 3 967
1 B A2 (e BB ) ’
(IR B FEARIT Hirdsk s 2 — [ R 45 2R ”
1 5 A 2 (0% P R )
(IR B FEARIT Mk & — [R5 5= 18
(6 R A2 (1A - 54 - (R R 2R
(IR B FARIT Hirdsk s 2 — [R5 5= L 953
1 A B (e ) ’

137 fir % 39,015

& HS 1,086,289




